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Les	
  incer:tudes	
  liées	
  au	
  
réchauffement	
  global	
  sont	
  
importantes	
  et	
  augmentent	
  
encore	
  quand	
  on	
  se	
  transpose	
  

dans	
  le	
  futur	
  

La	
  température	
  globale	
  est	
  
reliée	
  seulement	
  d’un	
  
point	
  de	
  vue	
  probabiliste	
  
aux	
  émissions	
  et	
  aux	
  
poli:ques	
  à	
  meLre	
  en	
  
œuvre,	
  si	
  bien	
  qu’il	
  ne	
  dit	
  
pas	
  aux	
  décideurs	
  et	
  aux	
  
citoyens	
  ce	
  qu’il	
  faut	
  faire	
  



Le	
  «	
  2°C	
  »	
  ne	
  représente	
  
pas	
  bien	
  le	
  problème	
  du	
  
réchauffement	
  clima:que	
  

•  La	
  base	
  scien:fique	
  est	
  ténue.	
  	
  
•  La	
  température	
  globale	
  s’est	
  

faiblement	
  élevée	
  depuis	
  16	
  ans,	
  
mais	
  la	
  chaleur	
  emmagasinée	
  a	
  
augmenté	
  fortement.	
  

•  L’Arc:que	
  (par	
  exemple)	
  s’est	
  
réchauffé	
  rapidement.	
  Cela	
  pu	
  
augmenter	
  certains	
  événements	
  
extrêmes	
  aux	
  moyennes	
  la:tudes.	
  

•  Les	
  océans	
  ont	
  pu	
  stocker	
  jusque	
  
93%	
  de	
  l’énergie	
  supplémentaire,	
  
ce	
  qui	
  a	
  alimenté	
  l’éléva:on	
  du	
  
niveau	
  de	
  la	
  mer.	
  

•  Un	
  seul	
  indicateur	
  peut	
  être	
  
trompeur	
  (le	
  seul	
  acceptable	
  est	
  
la	
  concentra:on	
  des	
  GES)	
  

	
  



Seul	
  le	
  scenario	
  «	
  op:miste	
  »	
  RCP2.6	
  
permet	
  de	
  rester	
  dans	
  les	
  limites	
  de	
  la	
  
variabilité	
  naturelle	
  depuis	
  800	
  000	
  ans	
  

Température	
  de	
  l’Antarc:que	
  et	
  contenu	
  atmosphérique	
  du	
  
CO2	
  depuis	
  800	
  000	
  ans	
  
Température	
  globale	
  et	
  CO2	
  projeté	
  jusqu’en	
  2100	
  



Le	
  GIEC	
  a	
  défini	
  des	
  niveaux	
  de	
  risque	
  pour	
  
chacun	
  des	
  scénarios	
  

•  Le	
  GIEC	
  a	
  défini	
  un	
  
gradient	
  de	
  
dangerosité	
  du	
  
changement	
  
clima:que,	
  allant	
  d’un	
  
risque	
  local	
  ou	
  lié	
  à	
  
des	
  événements	
  
extrêmes	
  à	
  un	
  risque	
  
global	
  et	
  irréversible.	
  	
  

RCP2.6	
  

RCP4.5	
  

RCP6.0	
  

RCP8.5	
  

Projec'ons	
  2050	
  



Nous	
  sommes	
  arrivés	
  au	
  niveau	
  0.85°C	
  et	
  
certains	
  dommages	
  sont	
  déjà	
  observés	
  

•  blanchiment	
  du	
  
corail,	
  	
  

•  déplacement	
  
d’espèces,	
  	
  

•  stress	
  sur	
  les	
  forêts	
  
et	
  les	
  rendements	
  
agricoles,	
  	
  

•  salinisa:on	
  
d’aquifères,	
  	
  

•  problèmes	
  de	
  santé	
  
dus	
  aux	
  canicules,	
  	
  

•  Etc.	
  



Un	
  exemple	
  de	
  la	
  
situa:on	
  actuelle:	
  

les	
  espèces	
  
“aliens”	
  en	
  

Méditerranée	
  

Katsanevakis	
  et	
  al	
  2014	
  



Les	
  pe:tes	
  îles	
  sont	
  aux	
  avant-­‐postes	
  
du	
  changement	
  clima:que	
  

A	
  2°C,	
  le	
  risque	
  est	
  élevé	
  
A	
  4°C,	
  il	
  faudra	
  une	
  très	
  forte	
  adapta:on	
  pour	
  
limiter	
  le	
  risque	
  au	
  niveau	
  2°C	
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1.5°C	
  

2°C	
  

10	
  cm	
  

Jusque	
  2030,	
  
pas	
  de	
  
différence	
  
entre	
  les	
  
scénarios	
  



La	
  montée	
  du	
  niveau	
  marin	
  est	
  un	
  
processus	
  à	
  forte	
  iner:e	
  

•  Mais	
  un	
  fait	
  inquiétant	
  est	
  que	
  la	
  montée	
  du	
  niveau	
  des	
  mers	
  s’est	
  
accélérée	
  ces	
  dernières	
  années	
  et	
  les	
  projec:ons	
  des	
  précédents	
  
rapports	
  du	
  GIEC	
  en	
  2001	
  et	
  2007	
  se	
  sont	
  trouvées	
  dépassées	
  par	
  la	
  
réalité	
  

3e	
  rapport	
  GIEC	
  

4e	
  rapport	
  GIEC	
  



Les	
  «	
  INTENDED	
  NATIONALLY	
  DETERMINED	
  
CONTRIBUTIONS	
  »	
  nous	
  situent	
  plus	
  près	
  de	
  3°C	
  

•  Les	
  risques	
  de	
  changements	
  abrupts	
  et	
  irréversibles	
  
deviennent	
  très	
  élevés	
  au-­‐dessus	
  de	
  3°C.	
  Il	
  surviendrait	
  dans	
  
l’évolu:on	
  du	
  système	
  terre	
  des	
  points	
  de	
  bifurca:on	
  qui	
  
pourraient	
  nous	
  faire	
  entrer	
  dans	
  le	
  domaine	
  du	
  chao:que.	
  	
  

A	
  2°C,	
  2003	
  sera	
  
rela:vement	
  rare;	
  à	
  
3°C,	
  ce	
  sera	
  la	
  norme	
  

Canicules	
  



Services	
  écosystémiques	
  liés	
  à	
  la	
  forêt	
  

Capacité	
  des	
  services	
  
écosystémiques	
  à	
  s’adapter	
  à	
  un	
  
monde	
  +2°C	
  (Impact2C)	
  



1.5°C	
  possible	
  si	
  on	
  reste	
  en	
  dessous	
  de	
  450	
  ppm	
  
2°C	
  possible	
  si	
  on	
  reste	
  en	
  dessous	
  de	
  500	
  ppm	
  

Le	
  scénario	
  qui	
  permeLrait	
  de	
  rester	
  en	
  dessous	
  de	
  2°C	
  implique	
  de	
  réduire	
  de	
  
40	
  à	
  70%	
  par	
  rapport	
  à	
  2010	
  les	
  émissions	
  de	
  gaz	
  à	
  effet	
  de	
  serre	
  à	
  l’horizon	
  
2050.	
  Le	
  seuil	
  de	
  1.5°C	
  ne	
  serait	
  possible	
  qu’avec	
  des	
  réduc:ons	
  d’émission	
  de	
  
70%	
  et	
  95%	
  de	
  la	
  valeur	
  de	
  2010.	
  	
  



L’objec:f	
  ul:me	
  de	
  l’accord	
  de	
  Paris	
  est	
  de	
  
limiter	
  le	
  réchauffement	
  global	
  en	
  dessous	
  de	
  
2°C	
  et	
  de	
  poursuivre	
  les	
  efforts	
  pour	
  le	
  limiter	
  à	
  

1.5°C	
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Il	
  s’agit	
  pour	
  cela	
  d’aLeindre	
  le	
  pic	
  des	
  
émissions	
  aussitôt	
  que	
  possible	
  et	
  d’aLeindre	
  le	
  
zéro-­‐émission	
  durant	
  la	
  seconde	
  moi:é	
  du	
  siècle	
  



Le	
  «	
  2°C	
  »	
  est	
  équivalent	
  à	
  ne	
  pas	
  dépasser	
  450	
  
ppm	
  eq.CO2,	
  ce	
  qui	
  ne	
  pourra	
  se	
  faire	
  sans	
  une	
  
complète	
  décarbonisa:on	
  du	
  secteur	
  énergie	
  
vers	
  2050,	
  et	
  plus	
  si	
  on	
  veut	
  aller	
  vers	
  le	
  1.5°C	
  

	
  

Cela	
  veut	
  dire	
  aussi	
  que	
  toute	
  émission	
  devra	
  être	
  contre-­‐
balancée	
  par	
  des	
  techniques	
  de	
  capture	
  du	
  CO2	
  




